
Quest ce que le cadeau  B' - ? ( )Quel nombre se trouve dans chaque cadeau?
13 × 20 = 5 × 3 = 15 × 13 =7 × 13 = 17 × 19 = 6 × 16 =9 × 13 = 11 × 4 = 14 × 18 =2 × 2 = 5 × 12 = 9 × 18 =17 × 10 = 3 × 5 = 5 × 14 =16 × = 224 20 × = 280 18 × = 3248 × = 104 19 × = 190 13 × = 19515 × = 135 10 × = 140 9 × = 4512 × = 180 17 × = 170 5 × = 155 × = 90 14 × = 28 8 × = 144× 18 = 108 × 19 = 152 × 14 = 42× 16 = 272 × 9 = 45 × 7 = 28× 8 = 16 × 5 = 65 × 20 = 160× 4 = 28 × 6 = 84 × 2 = 36× 19 = 380 × 14 = 98 × 11 = 132
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Quest ce que le cadeau  B  Solutions' - ? ( )Quel nombre se trouve dans chaque cadeau?
13 × 20 = 260 5 × 3 = 15 15 × 13 = 1957 × 13 = 91 17 × 19 = 323 6 × 16 = 969 × 13 = 117 11 × 4 = 44 14 × 18 = 2522 × 2 = 4 5 × 12 = 60 9 × 18 = 16217 × 10 = 170 3 × 5 = 15 5 × 14 = 7016 × 14 = 224 20 × 14 = 280 18 × 18 = 3248 × 13 = 104 19 × 10 = 190 13 × 15 = 19515 × 9 = 135 10 × 14 = 140 9 × 5 = 4512 × 15 = 180 17 × 10 = 170 5 × 3 = 155 × 18 = 90 14 × 2 = 28 8 × 18 = 1446 × 18 = 108 8 × 19 = 152 3 × 14 = 4217 × 16 = 272 5 × 9 = 45 4 × 7 = 282 × 8 = 16 13 × 5 = 65 8 × 20 = 1607 × 4 = 28 14 × 6 = 84 18 × 2 = 3620 × 19 = 380 7 × 14 = 98 12 × 11 = 132
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